Read the following passage carefully and answer Question Nos. 1 and 2 :

Since almost the beginning of cinema, we have had scary films. Of all the genres th;éé
horror is perhaps one of the most conventional. Many horror films rely on SP¢<! m\fé R
devices, also called tropes, to make their audience frightened. When a trope is used tf:(i,n Heret' 4
it can become a cliché. But when used well, it can really make us jump out of ourt el .
are some of the most used, and perhaps abused, clichés in horror films. N
No matter what kind of house it is, the basement is a scary place in horror e 'I;ha;c ‘_.
usually where something is hiding or where the evil psychopath has hidden their too s.r
Basements are always dark and often damp. You can only reach them by a narrow staircase.
And basements are always creepy, even when there isn’t anything down there. _ ]
In older horror films, when protagonists were in desperation, it was difficult or i_mposmple fq; ;
them to call for help or call the police. Mobile phones have made that situation 2 bit less
believable now. What'’s the solution to maintain suspense? No phone coverage! If youre 2 hero 1
in a horror film, it’s almost certain that at a key moment, just when you absolutely need to =

call for help, you will not have any coverage at all. Or your phone battery will die just as you =
are making the call. Or both. :

Directors of horror films love uninhabited places. This could be an abandoned hospital, a
scary empty house or a ghost town. There’s something about lonely, empty places. What vfras
it like when people lived there? Why did they leave? May be it’s also that they are so quiet, =
which can be very scary too. Of course, abandoned places are also handy for horror film =
directors in that it’s more believable that you will have no phone coverage there either.

The hero has been driving for hours. It’s night-time and it’s beginning to rain. Suddenly he
sees a person on the side of the road. May be the company will keep him awake? In horror

films, giving anybody a ride is asking for trouble. The hero always does it, and it always ends
badly.

This horror film cliché was especially popular with horror films of the late 20th century. It
starts with a group of teenagers all enjoying themselves, and it ends with everyone dead
except one girl. At the beginning, the girl is usually innocent, shy and not particularly strong.
By the end, she has become the toughest and most resourceful person in the world. The last
girl almpst always wins in the end. i

1,/ Why do horror film directors find abandoned places handy?

,(9) Abandoned places are very quiet which greatly contributes to creating a spooky
atmosphere

(B) It is more believable that there will have no phone coverage in abandoned places

(C) Abandoned places are very quite and which greatly contributes to creating a
spooky atmosphere :

(D) It is more possible that there will have no phone coverage in abandoned places;

/ Horror film as a genre
(A) has rarely made into a cinematic expression
(B) had become popular since the previous century
(C) has always been considered as a cinematic subject
(D) has relied on scientific fiction

BBDC-1I-23/31-D (2) 2




Read the following ms% s
1o many parents these qq 2

] ys

%1)10 respond greedily to the i
oesn’t satisfy some kidg: . tSemeny
Sducators e parenz(sldt:- th ﬁﬁh‘r fl.“ta aimed right at them. Even getting what they want

C hat's really important y Ink jprg e aflt more. Now, a growing number of psychologists,

: val o stop the madness and start teaching kids about

3 . ue ,\1- ! \
le to set lim 8 like
strurgl% study of a dlt? has neyer ‘beenht&rd work, contentment, honesty and compassion. The
recy Y ults who we N tougher—and the stakes have never been higher. One

; ; i '€ overj
thel'r futl.n’e ! “:heljl given too muchenndmged as children, paints a discouraging picture of
coping with life’s dls'aPPOintments T:l°° s0on, they grow up to be adults who have difficulty
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psychologists say that parents l:::ce a.nd In relationships.
to future anxiety and depr 0 overindulge their kids set them up to be more vulnerable
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self-sacrifice, grew up in a Cultu? Today’s parents themselves raised on values of thrift and
more, partly because there'is so e Where ‘no’ was a household word. Today’s kids want much
out record amounts. In the heat :;‘tll‘;h;nm.'e to want. By every measure, parents are shelling
no find themselves reaching for theireér:gilffatr)-gzz’ even parents who desperately need to say

Togey paren'ts T f qulpped to deal with the problem. Many even wear the same designer
clothes as their kids and listen to the same music. And th k more h - at the end of
long week, it’s tempting to buy peace with . A R sk i b
. g ith yes’ and not mar precious family time with conflict.
Anxiety a.bo.ut the future is another factor. Experts agree : too much love won't spoil a child.
Too few limits will.
What parents need to find, is a balance between the advantages of an affluent society and the
critical life lessons that come from waiting, saving and working hard to achieve goals. That
search for balance has to start early. Children need limits on their behaviour because they
feel better and more secure when they live within a secured structure.
Older children learn self-control by watching how others, especially parents act. Learning
how to overcome challenges is essential to becoming a successful adult. Few parents ask kids
to do chores. They think their kids are 'already overburdgned by socia'tl and academic
pressures. Every individual can be of service to others, and life has meaning beyond one’s
own immediate happiness. That means parents eager to teach values have to take a long,

hard look at their own.

lurking behind the overindulgence of parents?
earn to be thrifty

to replace ‘money’ for family time’

e to anxiety and depression in their lives

>
3. What is the primary danger
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Read the following passage carefully and answer Question Nos. 5 and 6 :

The Scandinavian countries are much admired all over the world for their enlightened social
policies. Sweden has evolved an excellent system for protecting the individual citizen from
high-handed or incompetent public officers. The Swedish were the first to recognise that
public officials like civil servants, police officers, health inspectors or tax collectors can
make mistakes or act over-zealously in the belief that they are serving the public. As long ago
as 1809, the Swedish Parliament introduced a scheme to safeguard the interest of the
individual. A parliamentary committee representing all political parties appoints a person
who is suitably qualified to investigate private grievances against the State. The official title of
the person is ‘Justice Ombudsman’ but Swedish commonly refer to him as the ‘JO’ or
‘Ombudsman’. The Ombudsman is not subject to political pressure. He investigates
complaints, large and small, that come to him from all levels of society. As complaints must
be made in writing, the Ombudsman receives an average of 1200 letters a year. He has eight
lawyer assistants to help him, and he examines every single letter in detail. There is nothing
secretive about the Ombudsman’s work, for his correspondence is open to public inspection.
If a citizen’s complaint is justified, the Ombudsman will act on his behalf. The action he takes

varies according to the nature of the complaint. He may gently reprimand an official or even
suggest to the Parliament that the law needs to be altered.

S. Why did Sweden introduce the institution of Ombudsman?

(A) The Swedish were the first to recognise that public officials like civil servants,
police officers, health inspectors or tax collectors cannot make mistakes

(B) Sweden introduced the institution of Ombudsman for protecting the individual
citizen from high-handed or incompetent public officers

(C) The Swedish thought of making the State more powerful

(D) The Swedish thought of collecting service tax from individuals

6. A critical feature of the Ombudsman is
(A) he works alone without assistants
(B) his work is subject to public scrutiny
(C) he listens to oral complaints, alone

(D) he only concentrates on major issues

BBDC-11-23/31-D (2) 4



Read the following pasgq
ike and MOI'l'iS lived in the

the ‘“Hag(;’ M dW:'s. ¥ POQQ,;,m;::ng”- While Morris owned the largest jewellery shop in
ni-law anc EIEEEE fld'ren_ 0 E hé." B°ﬂ) had large families with many sons, daughters-
Jecided to leave the village gnq o day, Mike, tired of not being able to feed his family,
feed everyone. Along with hjg fam_;We to the city where he was certain to earn enough to
ander a large tree. There waots 1 Y he left the village for the city. At night, they stopped
ihemselves. He told his song ¢ cl Stream running nearby where they could freshen up
and he instructed his daughte!;s_:jar the area below the tree, he told his wife to fetch water
ihe tree himself. They didn’t kn:‘;,law to make up the fire and started cutting wood from
niding. He watched as Mike’s'fam-.lthat in the branches of the tree, there was a thief
nothing to cook. Mike’s wife also'tholy worked together and also noticed that they had
Mite :;ght tht? same and asked her hust?and, “Everything is

< watching all of this from above. Hel::‘?]r:s handf to hea\.ren and sau.i, “Don’t worry. He
that the family was large and worked Welu A elp us. Th(:: thief got worried as he had seen
4id not know he was hiding in the b ogether. Tak'mg advantage of th.e fact that they
: ranches, he decided to make a quick escape. He
climbed down safely when they were not looking and ran for his life. But, he left behind
Fhe bund1<.i of 'Stolen jewels and money which dropped into Mike’s lap. Mike opened it and
jumped with joy when he saw the contents. The family gathered all their belongings and
returned to the village. There was great excitement when they told everyone how they got
rich. Morris thought that the tree was miraculous and this was a nice and quick way to
earn some money. He ordered his family to pack some clothes and they set off as if on a
journey. They also stopped under the same tree and Morris started commanding everyone
as Mike had done. But no one in his family was willing to obey his orders. Being a rich
family, they were used to having servants all around. So, the one who went to the river to
fetch water enjoyed a nice bath. The one who went to get wood for fire went off to sleep.
Morris’ wife said, “Everything is ready but what shall we eat?” Morris raised his hands and
said, “Don’t worry. He is watching all of this from above. He will help us.” As soon as he
finished saying, the thief jumped down from the tree with a} knife in hand..Seemg him,
everyone started running around to save their lives. The thief stole ever}.'thmg they ha.d
and Morris and his family had to return to the village empty-handed, having lost all their

valuables that they had taken with them.
why did Morris and his family decide to rest under the

“J and answer Question Nos. 7 and 8 :

ready but what shall we eat?”

7. According to the passage,

thief’s tree?
i hief

i .o they knew that they could easily defeat the t

(A) Being a large family,

t for taking a halt at night

(B) It was a convenient spo

eam nearby and wood for his family to bathe and collect

(C)° There was @ Stf
firewood ' ’
powers of bestowing riches

' ) us
(D) The tree had miraculo
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8. The thief had left back the bag of jewellery behind on the tree because
(A) Mike’s prayer to God was granted
(B) Mike spotted the thief on the tree |
(C) Mike’s family was united and hardworking and so they could capture hi
(D) Mike lit a fire that threatened to burn the tree

Read the following passage carefully and answer Question Nos. 9 and 10 :

Thimphu'’s most fun night-spot Mojo Park (the best music in town). Bhutan has tak
democracy with ease ever since 2008 when the first proper elections were held, a proc
India has helped out with, sending officials from the Election Commission travelling to ch |
arrangements, explain electronic voting machine (EVM) technology and procedures. However, =
there are many things uniquely Bhutanese : ‘

Monks and nuns in this deeply religious Buddhist majority are not allowed to vote, so as to
avoid mixing religion and politics. All voters must wear their national dress on polling day,
but no one—candidate, campaigner or voter—is allowed to wear the Kabney silk and Gyentag,
a scarf of honour, for men and women respectively, bestowed only by the King, Patang—the
ceremonial sword, or any other sign of rank or royal patronage to avoid a misuse of influence.
And, in deference to the environment, no posters can be put up on any public property,
including trees, and are mostly restricted to a community billboard for all. May be a thing or
two the world’s largest democracy could learn from the youngest?

While polygamy is practised in some parts, so is polyandry, and divorce settlements are equal
and even-handed. Even so, Bhutanese women lag behind in one place that it counts :
Parliament. In the last National Assembly Elections, 3/4ths of the 47 seats had only male
candidates (nine had females), and four women were elected as MPs. “Misogyny plays only
one part of it”, explains the only leader of a party (DCT) Lily Wangchuk, who runs a hotel in
downtown Thimphu. “Women just don’t vote for women, and the lack of women role models in
modern Bhutan becomes a vicious cycle.”

While Bhutan’s government and people tell you they are devoted to preserving the country
and its beauty, it is plain to see Bhutan is changing everyday in little ways. Less youngsters
adhere to the traditional and once mandatory national dress (Goh and Kira), more and more
buildings now get permission to rise above the originally regulated two stories, and glass and ]
granite are seen more in Thimphu where once only wood and paint were allowed. Some
modernities are welcome, and the abundance of hydropower electricity means many Bhutanese
(including the very dashing US-educated Prime Minister Tshering Tobgay) drive hybrid cars
The countryside is still pristine, and not covered with the plastic waste ubiquitous in India,
even as Bhutan explores more non-wood’ uses for its 70% forest cover that is also mandated
in the Constitution. 8

?‘ Bhutan aims to conserve its pristine environment by

(A) encouraging glass and granite in place of wood

(B) allowing election posters on any public property or any tree
(C) encouraging fuel-based energy

(D) not penalising plastic waste

BBDC-11-23/31-D (2) 6
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The development of nationalism jn + ‘
jifferent trajectory from that in t‘lil:hC third world countries, as is well-known, followed a very
tne process of the ermErEREENS i advanceq capitalist countries. In the latter it was a part of

former it was a part of the anti-colo:;i?urgwis order 'in opposition of ftf.udalism, wh.ilc .in the
across countries, had on the wholé : truggle- The 1.mpa.ct of colonialism, 'though 1t‘ differed
unifying supra-local economic Structﬁr ::enhm the dxréctlon of 'transcendmg loca.hsm and
struggle against colonialism Wi S through the introduction of market relat:qns. The
, : . ~ 2 quently, took the form of a national struggle in each
instance in which people belonging to different tribes or linguisti ities participated
and the colonial power IR, ‘ es or linguistic communi ies participa ed.

s ch instance attempted to break this emerging national unity by
SPhtFmg People. The modus operandi of this splitting was not just through political
manipulation as happened for instance in Angola, South Africa and a host of other countries;
an important part of this modus operandi was through the nurturing of a historiography that
just denied the existence of ahy overarching national consciousness. The national struggle,
the national movement were given a tribal or religious character, they were portrayed as being
no more than the movement of the dominant tribe or the dominant religious group for the
achievement of narrow sectional ends. But the important point in this colonialism, while, on
the one hand, it objectively created the condition for the coming into being of a national
consciousness at a supra-tribal, supra-local and supra-religious level, on the other hand it
sought deliberately to subvert this very consciousness by using the same forces which it has

objectively undermined.

1l How did nationalism originate in the third world countries?

(A) As a struggle against feudalism P
(B) As a vehement opposition to colonialism

(C) To advocate capitalistic movement

(D) To strengthen localism
. ht to be broken by the colonial powers by

m was soug
ess as something ordinary and sectarian

12, : ionalis
% The rise offS onal consciousn

(A) denoting the nati

(B) dividing the P€° Lor
(C) creating 2 middle et

ge violence
(D) using the police force to' ¥
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ge carefully and answer Question Nos. 13 and 14 :
unched in New Delhi on 25th of September in 201% It is
iness investors all across the world to invest in India. |

i
( r

Read the following passa

Make in India campaign was la

initiative to make a call to the top bus . : ; '
is a big opportunity to all the investors to set up their business in any field in the c

This plan has very attractive proposals for the foreign companies t? set up manuifo
powerhouses in India. Make in India campaign launched by.the Im:han gOVeriiELs ¢didl
on building the effective physical infrastructure as well as improving the market Ou'
network in the country to make it a global hub for business (ranging from sate ites
submarines, cars to softwares, pharmaceuticals to ports, paper to power, etc.). The symbol
derived from National Emblem of India, of this initiative is a giant lion having m@y wheels
indicating peaceful progress, a vibrant future, courage, strength, tenacity and wisdom. 3

a number of valuable and honoured jobs as well as
he country. T

harmaceuticals

This campaign focuses on creating
enhancement in almost 25 sectors for improving the status of youths of t

sectors involved are automobiles, chemicals, IT & BPM, aviation, p ‘
construction, electrical machinery, food processing, defence manufacturing, space, text
garments, ports, leather, media and entertainment, wellness, tourism and hospitality,
railways, automobile components, renewable energy, mining, biotechnology, roads and
highways, electronic systems and thermal power.
The successful implementation of this plan will help in the creation of 100 smart cities project
and affordable housin\iWe is to ensure solid growth and valua
“employment creation in the country with the help of top investors, It will benefit both partie
the investors and our country. The Government of India has created a dedicated help tez
and an online portal (makeinindia.com) for the easy and effective communication of mvesto;,

——

}{ What is the main objective of the ‘Make in India’ campaign? :
(A) The main objective is to ensure growth and valuable employment creation in
country with the help of top investors

(B) The main objective is to ensure solid growth and valuable employment creaﬁ'
in the country with the help of top investors :

}Q) The main objective is to ensure solid growth and valuable employment .'3‘1
in the country with the help of investors : 1

ta

(D) The main objective is to ensure solid growth and valuable employment crea e
in the country with the help of foreign investors :
1/4\. An outcome of the ‘Make in Indig’ campaign is

(A) manufacturing hubs in neighbouring countries
(B) to focus only on digitalisation

(C) creation of smart cities in Indija

(D) to lay down strict and rigid guidelines to start'a-business

BBDC-11-23/31-D (2) 3 () a.re
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@ 27,9 vl;;.vhhloh is similar to the pair 8, 4. -y

B 216, 32
© 72,24

(D) 45, S

(A} 540°
(B) 900° W "

o ~;Q‘ ’
©) 180° i %
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(D) 360° SR
Statement :

In a T20 cricket match played between two teams A and B, the runs scored by
team A were 150, of whlch 120 runs were scored by the spinners.

Conclusion I : 80% of team A consisted of spinners.

Conclusion II - : The op

Conclusion III : All the gpe
he top order patters of team A failed in the match.

ening batters of team A were sSpinners.

cialist batters of team A were spinners.

Conclusion 1V :

Select the correct answer from the options given below.

(A) Conclusions II and IV afe correct

(B) Only concluslon 11 is correct
I and IV arc correct

i‘ Z"{” 15 correct

(C) Conclusiohs I, f II

(D) None oh the conc

9 i [ P.T.O.

BBDC11.23/31-D (2)




)3-/ SOUTH is related to NORTH-WEST in the
(A) EAST
(B) SOUTH
(C) SOUTH-WEST

(D) NQRTH-EAST

19 Which of the following diagrams correctly represents lions, elephar;&si, a

animals?

(B , (B)

20. A garbage truck visits your locality every alternate day. You have observed that f
trashmen neither wear boots nor gloves while collecting garbage from !
households. You will p

(A) ignore the situation
(B) approach the trashmen and rebuke them for not wearing any protect
(C) approach the trashmen and offer some money to buy boots and glo

-

(D) describe the situation in your social media account with a photo
and tag the local municipa] authority to your post N&
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The average } ek

2 llowing table ¢ R
e, & small manufacturing unit is shown in the
S. No.| o
f'{:~. [ Ene hend Expenditure
1 Raw Fat (in rupees lakh)
2 | Salary — ' il 12:0
3 Pack e Nl e Tt 4-5
L NETSAN ehTon ‘
4 Transpor; . 0-;5 |
5 \ (05
Miscellaneoys overhe 35
’ E
d t . . ]
In order 10 maximize the pmﬁtmargin, Tou would
A) suggest a repl
( )) Placement of the currently used raw material with a low-cost variety
B

suggest a reduction of the ..
g8 Heton ofithe miscellancous overhead expenditure
(C) suggest a reduction in the workforce

(D) suggest an across-the-board salary cut

2/2. During your morning walk, you observed that one of the iron manhole covers in the
/  footpath is missing. You will

(A) continue with your morning walk as if you have seen nothing

(B) curse the unknown miscreant who had removed the cover and continue with
your morning walk

(C) put a twig or some markers on the uncovered manhole as a precaution against
possible mishap and then continue with your morning walk

(D) put a twig or some markers on the uncovered manhole as a precaution against
possible mishap, alert the maintenance authority, if possible and then continue
with your morning walk

23. You me kids studying in the neighbourhood school throwing garbage on the
. saw SO
road. You will jes

(A) ignore the situation

he kids and ask them not to litter on public places in future
nd the ;

to clean UP the litter

school and request the Headmaster to sensitise the students
also on the virtues of cleanliness

(B) reprima
(C) force the kids

D) make a visit to the
on civic sense and

B 11 ! [P.T.O.
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Joyed in a certain section of an office, of which yo
Three persons are currently emp ; e g
& arer th: in-charge. Two of the employees of the section are on leave wdaymﬁh y
prior approval. During the first hour of the day, however, you regelved a ,,“}
leave application from the third employee of the section. You would |

(A) approve the leave application immediately |

hamber and enquire about the urﬁmcy of his

(B) summon the employee to your c ,
u decide whether to grant him leave or not

situation. Depending on that, yoO

(C) summarily reject the leave application

(D) summarily reject the leave application and rebuke the employee for his

irresponsible behaviour

2§. A clock shows the time as 8:30 a.m. What is the measurement of the angle made "‘
/ by the hands of the clock? 4

(A) 75°

(B) 60°

(C) 30°

(D) 2455

26" If ‘P’ represents +’, ‘Q’ represents ‘+’, ‘R’ represents ‘f’ and ‘S’ represents ‘x’, then
what will be the value of 9E3§498,R7?
. 2af, Bk

(A) 12 : e z. axXyz(2+%3 2 R0 }—1’5/
(B)alS

(C) 10

(D) 13

27. Which of the following does not belong to the rest of the group?
(A) Brass
(B) Bro‘nzc
(¢} Aluminum

(D) Stainless steel o L

B : ‘




31, Below is a set of four diagrams w;e %
/ represents ‘doctors’ and the ‘trian “herol
justifies the statement : “Some tea
but no teacher is a doctor”?

(A)

(©

074

(D)

F- ’-"x‘ c‘
\ 2708

\

ction of his house at 7 a.m. and observes is
n is he walking? '

3} A person walks towards the dire
to the right. In which directio

(A) South
(B) North
(C) East

(D) West

BBDC-11-23/31-D (2) 14




53/ In a ETOUP of cow ‘ r
of heads. What ig the 1 ber of legs is 14 more than twice the number
~RCr of cows in the group? B

44, 1f 80% of the differe;
percent of Ais B?

(A) 30%
(B) 60%
(C) 40%
(D) 70%

L. S

3;//If RAT is coded as 9-26-7, then MONK will be coded as
/ (A) 9-25-26-7

(B) 14-12-13-16
(C) 13-25-14-11

(D) 26-9-8-25

/3'5. Find the missing number in the figure below :

(A) 14
(B) 320
(C) 400
D) 6

18
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37, 1L

then what is 81 - 5 = ?

(A)
(B)

(@
(D)

38/ In the following sequence of numbers, which number will be
42 and 170?

(A)
(B)
©
(D)

39. Five friends P, Q, R, S and T are sitting on a bench in a particular order we
blue, red, yellow, white and green caps (not necessarily in this order).-

1
2
3.
4

What is the colour of the cap worn by R and his ‘,s.ifting position from the Il

(A) Yellow and third

(B)

(C) Wt{ite and third
(D) White and fourth

BBDC-1I-23/31-D (2) | 16

25-3=2
36-5=1
16-4=0

3
5
4
6

6, 10, 22,42, ;K0
54 3 e e o

86

P is sitting on the right of Q (next to Q) and T and is wearing a red cap
R is sitting in the second position from the right. T ‘
T is wearing a blue cap.

Q is wearing a green cap and S is not Wean'ng a white cap.

Green and fourth
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/ Assertion @A)

. Choose€ the corr
(A) Assam : "
(B) Kerala :
(C) Gujarat ;.‘

(D) Manipur :

/
41. Given below are tw
nts labeled as Assertion (A) and Reason (R) :

|

; n.«:;;;‘?}gnﬂs. are used for cutting glass.

Reason (R) . "
:laInonﬂ_i'h“ high refractive index.

Which of the fOllOWIing‘fopﬁxm;:ﬁs'eonect?
(A) A is true but R is félge

(B) Ais false but R is true

! ‘\w
(C) Both A and R are true and R is the correct explanation of A

.

(D) Both A and R are true and R.is not the correct explanation of A

42./Given below is the analysis of the.result of an examination :

1. Total candidates . 100
2. Passed in all the five subjects . 50
3. TFailed only in English % 10
4. Failed only in Mathematics

5. Failed only in Physics

6. Failed only in Chemistry

7 Failed only in BiologY 10

at least four subjects?

How many candidates passed in

(B) 35
(A) 85
(D) 65
C) 7@ ;
17 (&) [ P.T.O.
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43.

7/

BBDC-1I-23/31-D (2) e

long tunnel |

i e sh a 1'5 km
A train passes through a 1 tength of 408

is 60 km per hour, what is the
(A) 200 m ‘

(B) 500 m

(C) 100 m

(D) 150 m

2 ) (b g ik
The line graph below shows the yearly production output of a tractor man:

company : Gl

Production Figures = & 1o i

No. of units produced

9]
o
o

400
2014 2015 2016 2017 2018 2019 2020 2021

Year

]

In which year, the company suffered the lowest rate of increase in .,,,;
i Y::}' ‘
(A) 2017

(B) 2018 R

(C) 2019

(D) 2020



5. The histo
units sold 4 ' ¥
respectively m ‘price in INR, sell price in INR and number of
: s last FY for 4 products P1, P2, P3 and P4
350 I — ‘ cular company : ,
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P2 P3 P4
The company achieved the highest margin of return for the product
(A) P1 o (B) P2

© P3 R (D) P4

46. Consider the pie diagram below showing the monthly school expenditure in respect
of a child :

o~

Fees

S5
22X\ INR 1500

7/ Books and
Stationeries
INR 1000

f the monthly expenditure is constituted by the monthly fees and
e o
What percentag port 10 gether?

the cost of trans (B) 36:36%
(A) 30-30% (D) 50%
(C) 40:45%
19 S} A [ PARO

"BDC11.03/31-D (2)




; . tion Q. The table below recore
a location P to a loca The t
47./ A car travels 100 km from i of the journey : £ %

average speed of the car in diffe

Distance 'travelled | Average speed (in kmph)
First 20 km 40
Next 30 km 60
Next 10 km 40
Next 40 km 60

What is the average speed of the car for the entire journey from P to Q7

(A) S0 kmph
(B) 48:2 kmph
(€) 52:2 kmph

(D) 554 kmph

4}8’. If the length of a rectangle is increased by 25% and the width is decreased by 20%,
then the area of the rectangle :

(A) increases by 5%

(B) decreases by 5%

(G} increases by 10%

(D) remains unchanged

7 _
49. A’s present age is 4 years more than B’s age after 6 years. The sum of the present
ages of A and B together is 70 years. What is the present age of B? ’

(A) 36 years
(B) 32 years
(C) 30 years
(D) 34 years

50. A cylinder whose height is -;— of its diameter has the same volume as that of a sph ‘j.

of radius 8 cm. The radius of the cylinder is
(A) 8 cm
(B) 4 cm
) 2icm
(D) 5 cm

BBDC-11-23/31.D (2) 20 o



. The diam

diameter
plates is

tes are respectively 18 cm and 80 cm. The
 equal to the combined area of the two given

(A) 98 cm
(B) 40 cm
(C) 41 cm

(pT 82 cm

5/2/ The time in years a1 s : :
°T8 MHuired for a sum of money to amount to 4 times itself at 15%

simple interest per annum A
(A) 30 years
@ 20 years ;
(e 10 years;

(D) 15 years

2 2 |
;df 4x? +9y? +1622 +12xy + 24yz + 16xz is equal to
A) (2x-3y-4z)
(B) (2x + 3y -42)*

(C) (2x+3y+42z)°
(P) Cannot be determined

54. APQR and ALMN are similar, If 3PQ= LM and MN=9 cm, then QR is equal to

(A) 3 cm
(B) 6 cm
(C) 9 cm
(D) 12 cm

BDC-1123/31-D (2) 21 § oagtrc (PR




: 1 is 8. Which on

BB Al Of{fm.,o num})er. ' 1 intipe HOIE
A) 24 ' ‘
(B) 48
(C) 56

(D) 60

mo I¥

i

sge S8 S
oy v b 5 s [z 73
56. The radius of a wheel is 21 cm. How many revolutions will it

travelling 924 m? [Use n=22]

[11l¢

ok baritpsy enpmy o semit »il
@A) 7 o e munas 199 WoIsing e

(B) 101 ‘ : ,~:'f‘- ‘ it “éﬁ,
(C) 200 cisey DS 8

(D) 700 ST

zagey 81 ("ﬂ-:
57. If J/3=17321, then the value of \19 —%J48 -J75 is

¥ + sgbl FURET 4 Rsd1 + S .;& h -

(A) 8661 | e P b

\;I <, l" : = \
(B) 4-331 ; -t XS} A

DR e o

a

()" 15e81 » g L Nebpexg @

(D) -1-746
Nepeymxty O

58. A student was asked to find the arithmetic mean(jp,i_,_f};le‘fplkompgvfl‘g‘ gmn%m 4

8,13, 7,9, 15, 13, 8, 19, 17, 211l e
"He found ‘%f%é arithmetic mean to be 12. The %ﬁfg}%;f:x’is‘ V‘J"“é?, |
- , _ &
(B) 7 |
) 17

(D) a1

BBDC-11-23/31-D (2) el R




g9. The sum of b

60.

61.

®BDCy1.93/31-D (2)

are intercha
The original

(A) 25
(B) 43
(C) 52

(D) 34

The end points of a lin, o -
line segmeninn e segment AB are P (-5, 4) and Q (7, -8). The midpoint R of the

A) R(1, -2)
B) R(2, -3)°
© R@, -2)

(D) R(2, 1)

Statements :

I. The prices of petrol and diesel in the domestic market have remain unchanged
for the past few months.

II. The crude oil prices in the international market have gone up substantially in
the last few months.

»

Conclusions :
() The statement [ is the cause and statement Il is its effect.

(i) The statement 11 is the causeé and statement I is its effect.

(iii) Both the statements | and II are effects of independent causes.

(ivy Both the statements | and 11 are effects of some common cause.

Select the corréect answer from the options given below.

(A) Conclusions () and (iv) are correct

(B) Only conclusion (iii) is correct

(€ Conclusions (il and (iii) are correct

(D) None is correct

23




92«. Small talk is a e

65

6;.

’ . RS ey i 14,4 v a2 .‘\<’3 “-.~ IR
65. While communicating negative messages, it is ir’npoﬂ:ant to

L BBDC-11-23/3 1-D (2)

(A) discuséion on a serious ma

(B) lubrication for social interaction

(€)

(D) one-way communication

If we want a continuing harmonious relati

R

it B e
S | I1§ l* ”" ]
tter '

formal communication

G;

onship in our negotiations, We Wln i

(A) the distributive negotiation strategy
(B) maximising individual gain approach ’ i {8h
(C) victory as the ultimate goal | E- S)
(D) the integrative negotiation strategy e
| 532
Empathy is . P Y i R B ———
(A) to give advice oA :
' i aoirg B ) o] H
(B) to try to change someone else’s emotiqns e [ 2y
(C) feeling sorry for somec;ne B
g ) ke de DIYS SEe Iemaisle
(l?) putting yourself in someone else’s shoes . o~
‘ i b : 518 3 f (ms)
REY

(A)
(B)
©)

(D)

! 4 ‘. t . “l.x |\'r“"
use a buffer writing in the beginning

ST W

12971100 9yt

use the me attitude g
COresids
blame someone specifically

1100 916 () b (ii)

apologise profusely
= &




6- Self-estee
o v
(B) your ¢

(C) your

B Uoy o ensse B8 paevistar (D)
> Tréness
(D) your s

»

67.

(B)
(C)

(D)

(A
i

68. Valuing dive
(A)
(B) cultural ‘
(©) ’

(D) cultural ap

89. Listening
() looki
B
(C)

D) pa

) :
e1.23/31-




'70. While communicating in & group, Yo

(A) initiate even if you are not prepared

(B) speak out of turn

/4

LA

(C) intervene as many times you want to noltmetleve Loz

(D) listen if you do not know well’ o e Qo 2

71. Feedback is cmcial as it ensures
(A) that the information has been shared
(B) that the communication process is ovex"
(C) that the informaif.ion‘ has been shared and tg‘nderstood : : ”

(D) that the information has been understood

72. Perceptions are largely‘ not i ’ i = \J
(A) biased ‘
(B) negative
(C) dependent on the person’s knowledge, attitude and bt;liéfs

(D) the truth and how things exist

73. A barrier in communication can be
(A) use of jargons
el (B) use of visual aids

/

(C) empathy with the speaker

Mgt 2l ol v gokoy 3

|

[ ‘ (D) cqﬁrte‘gy
| p

|
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74. The gait of a person does not convey

(A) the state of his mind

(B) the confidence of the person
(C) the helplessness of the person

(D) the closed personality of the person

75. You are most likely to pat and shake hands when

(A) you are being persuaded rather than trying to persuade
(B) asking for a favour rather than granting one
t rather than expressing excitement

(C) listening to someone else’s excitemen

(D) responding to an order rather than giving one

76. Refer to the alphanumeric series given below and answer the following question :
A’ *’ 5! 9’ Iy N’ &) E, @, #) U, 11 &

How many vowels in the above arrangement are preceded by a symbol?

(A) One
(B) Two
(C) Three
(D) None

77. What is the missing element in the series given below?

ABD, EFH, IJL, MNP, ORT,.
e g

(A) XYZ
(B) VWY
(C) WXZ
(D) UVX
BBDC-11.23/31-D (2) R : [ P.T.O.




78/ When the digits within the following numbers are multiplied with €3°" off i, S8 |
7 product of which number is the lowest?

(A) 435

(B) 224

(C) 902

(D) 823

79. /Rita told Mani, “The girl I met yesterday at the beach was the youngest d?“gf:}f;fdgf
the brother-in-law of my friend’s mother.” How is the girl related to Rita’s

(A) Cousin
(B) Daughter
(C) Friend

(D) Aunt

A + B indicates A is the brother of B
A - Bindicates A is the sister of B

A * Bindicates A is the father of B

then which of the following means that C is the son of M?
A) M-N*C+F
B) F-C+N*M
€ N+M-F*C

D) M*N-C+F

BBDC-11-23/31-D (2) 28 (R)Henrcoi il




